Ix-2310 3x+3#0 POM AlD (S ALL REAL

ol

Ix ¢ 3x 7“2 NOMBERS EXCEPT X=0.
X#% X006 XF T IXF-LT AOD X=—-/.G
odule 7 - Rational Functions Progress Exam 2
31. Determine the domain of the function below.
& Two FACTIORSTHAT MULTIPLY - 6 - 6
T0 =90 Ayp ADD TO 9 ARE ¥f(x) " 1822 + 18z — 20 2(9x* +9x -/0)
o~
IS, -b A. All Real numbers except x = a, where a € [22.5,25.4] = b
J/ B. All Real numbers except z = a, where a € [—0.3,2.4] 1(37-13(3x+5 )

qxt_‘_clx -0 C. All Real numbers.

-qQ.t @ All Real numbers except x = a and x = b, where a € |[—0.3,2.4] and b € [—2.4,—-0.3
2"+ 15x- 6x-lo P | | | |

3 (3 y-2 E. All Real numbers except z = a and x = b, where a € [22.5,25.4] and b € [—15.4, —14]
=3x - - _
X+3)-23x45) = (3 -2YRx+3)

32. Solve the rational equation below. Then, choose the interval(s) that the solution(s)
belongs to.

3 8
22 —9 —12x — 54

-8
(D e [-4.54, -4.15]
B. x; € [4.28,5.14] and x5 € [-5, —3]
C. All solutions lead to invalid or complex values in the equation.
D. z € [4.28,5.14]
E. z; € [-3.84,-3.69] and x5 € [-5, —3]

33. Solve the rational equation below. Then, choose the interval(s) that the solution(s)

belongs to.
3z _ Tx? B 7
Su+7 1022 +497 +49 27 +7
A 1y €[-214,-0.88] and 73 € [-9,0] 3 x 2)(1 = 3
B. o € [~2.14,-0.88] Sx43 (sx+7)(2x+3) x4+ 3

C. xy € [—4.08,—-3.25] and z5 € [-9,0]

:1: € [~7.6,—6.3]

E. All solutions lead to invalid or complex values in the equation.

DomAly:
Al & DOMAIg (S AL ZEAL mUARERS
Sx+320  2x47#0 BXCBPT X= -2 a0 x=-2
Sx2-3 U2-1 3 3
X#-3 x# -3
s 0
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. J LD 15 6(-2x-9)

{-8-3 -8 I(G(—Zx—‘h)

-1x-9 o(-2x=9)

—8(b(-2x-9)) =3(6)= &
-48(-2x -9 - I8 = 8§
dox +432-18 =8

Gex + 414 =8
-4 - -Yiy
9ox = - 400
X = 906
1o

(X:“-[.7.3!

& 10THE DOMAlY !

3.
3x 3t =_3 }((zx+n(5xm)
Sx+3 (sx+3) (x4 T+ 3

W)= IxE = 2(sx+3)
bx? +2x=- Ix" = Jsx +Y99
-x" +2x = 35x+ 49

O= x*+14x+49q
0+ (x+3)x+3)

NS———

X+3 =0

x 2=\ & loTHE POMALy !

NOMNAID:
-x-9 #0
-2x #4
xt -9
2

X# 953

D DoNAl B ALC

EE AL QOMBER
EXCEPT x= =995



Module 7 - Rational Functions Progress Exam 2

34. Choose the equation of the function graphed below.
4 PARENT ~1

FOMOCTION IS 4 A f@) = (z +3)? +2
\ !
— 3< :
X (2,2) B. f(z) = i3+z
£ato=qz-| ? b '
] ' ~1
RX(hK)=(3,2) * CICEF=SE
0 .
.. q S __ 1
-C(x\-n_‘_n 2 4 D. f(x)—<x+3>2+2
- — 2
{02 =
35. Choose the graph of the equation below.
RPARENT FUCTION IS 5 Fo) = —L 43
Ra=-l 3 aco ; ;
ﬁ(h,k—)'—(z; 33 4 4 J
(2.3)
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Module 8 - Logarithmic and Exponential Equations Progress Exam 2

36. Which of the following intervals describes the Range of the function below?
f(z) = logy (v —3) — 1
(—00,a),a € [-1.05,-047] KR EPADGE OF LOGARITHM
la,00), a € [2.22,3.76] FOOLTIO NS IS ALWAYS (-0°, 0°)

(—00,a),a € 1]0.3,2.07]
(—o0,al,a € [—3.44, —2.66]
(—o0

37. Which of the following intervals describes the Domain of the function below?

flz) = =" +1
(—00,a),a € [0.6,2.3] % DOMAID OF [EXPOIEVITIAL
[a,00), a € [~3.4,0.4] FOOCTIOOS IS (-, 29)
(—00,a),a € [0.6,2.3]
(a,00),a € [~3.4,0.4]
(

38. Solve the equation for z and choose the interval that contains the solution (if it exists).

log: (—2z4+5)+6=2 _=
ogs (—2x +5) + e

A. z € [512,517] Jogs (-2x+8)= =4

@ ccl-1y %

C. x € [507,512] ,

D. z € [-14, -9 ’S TOTHE -4 EQUALY -2x+§ "

E. There is no Real solution to the equation.

- 1 _
5§12 —2x +5 s ~S =T
L < _2x +S -Ll.‘iq8'1= -2x
Sq -2 -2
J— -.-’lx+S

62S C-LIQ‘IZ:XJ
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Module 8 - Logarithmic and Exponential Equations Progress Exam 2

39. Solve the equation for x and choose the interval that contains x (if it exists).

5= In(26) _ X

2
15:ln\/—6 A 3
eCE

- Ve /5- 26 _
A) e [-32.-20) IS= '"((%—‘:Y) [ I————"(z) = ?X]z
2' xe?’j:] . Is= zi[’" %)] 30-n(20) = -X
. x e |—lo,—
D. x € [20,28] Is- L [‘n(ZQ) -ln(e")] '§O+2l:(:6.)>(=x

E. There is no solution to the equation.

40. Solve the equation for x and choose the interval that contains the solution (if it exists).

2x+2
35:675 — i i
16

- Sx-3
A. z€[2.8,5.6] S Rk Y 7 '
T — - - 2x+2
z € [~0.6,0.8] 12X+ A
C. z€[-64,—-1.5] Sx-S )
Ir\( = In [ ——
D. z € [0.3,1.4] 3 ) u,b‘*’)
E. There is no Real solution to W
v

(5%-5)Ia(3) = n(1) = In(167*)
SxIn(3) =SIn(3) = O -[(Lx+2\ln“6)]

SXI(3) -5 1a(3) 2 = (2xnalie) +2 [0 (16))
IxIN(3) =S 1 (3) = =2xIn16) =2 (16)
Fxdalley = +2xIn(10)

SXIn(3Y +2xla(16) =31 ()= =2In(10) X< =UAS) £5/4(3)
XA + 2xlalie) = =2 (16)+3 10 (R) 31n(3Y) +2ln(le)
x(3I (Y +2a(16)) = =27 (1) +5/n(3) [\x,--o 0047
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